S EA X RRERT

www.nsmath.cn/jdzs

E_+_HARIERERE S =T

FRAE

E—. X (P, P),(Q1,Q2), (Ri, Ry), (S1,S2) A ANABC #yvast % # L 4e
B, R @B PPy, Q1Q2, Ri Ry, S1Sy FATHARF. JEBA: P, & AQ1R S,
EHJE NN

(75 Telv Cohl #£42)

EE— (IRIBHEENREEIE):

T SUE B R T 5]

Bl# % (P, P),(Q,Q%) & AABC &ML, % PQ 5 PQ* X T
U, PQ*5 P*QXT V, W (U V) NAABC KI5 .

Bl FL b, il L BAP = LZCAP* L /BAQ = LCAQ* VL Ji %
KW=M Ea o] DAEW ZBAU = ZC AV, 3% BLIRATING F2 4075

[l 2 . 4 Mp, Mg, Mg, Ms 53N PiPy, Q1Qa, Ri Ry, S1.S2 B £,
%M PQ, 5 RQ, AT A, I PLQ, 5 PQy A s NTEF5 i £, i HH
SIEAT A PQy 5 PoQy IR S ABC AR b, B Mp Mg B H A5 1E
ANABC HIAMEIR L. RS Mo Mg 55 1 H s 7RO

Fr L AABC HIANERIZ {Mp, Mg, Mg, Mg} FAEE = SIE R = M TR
JUBL, HEH Mp S AMoMpMs WIFEC. ERE] MpMoMpMs 5 PiQ, RS, 4=
LRI LR O

WA (IR N = AR AR R EEIE ).
L= ABC HIAM0 IR R AMER AR N ALK RS2 2P, A&
MF RPN LT MG EL. B Py, Py NS AL A gAi RS, B
(P —A)P—-A)

71
(B—A)(C—-4)  (B-
FIFT A = & 55540, 135

A
A [1

~—

(P, — A)(Py — A) = BC(AP, — 1)(AP, — 1).

1 HEHEN


http://www.nsmath.cn/jdzs

FAehd, FRATH
(P, — B)(Py — B) = AC(BP, — 1)(BP, — 1).
ISR G 25 A — B, 152
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